% HREH | BT R | BIRTE MR [BEEME] 2 B | BEE | REHE
%
& =
SN 7 AERE f EEGRERET (P2 S 2 =T v —) eI T C?i? [gﬁ?%]
T & f& At JREFHT
[ iFox = it 105 14 A
i T H R H
ETFHEHHE |[SFf TH A H
ZE R R [ 15

SERAGEHA |[9f 7THA11H28H

— s X —




RoEF (& W) B H
& H
N
AT = # E
. Tl E
o T B 24 &
=
E
E
CN N =
o) R S
5 O £ A
X = — E
T2 BAR 4R ]
25 O A 4 E
25 9 4
B _ £ HOgE - A




R
i
il
i
21
=
]
i

=/u
AxX

b
&=
{
T
+
il

b
AR fi T =
R T
|TERERE S
IR B R
[ Stwm{aesiat ]
[ A Cf ]
B B R
[ B HEE )
[ Tl ]
— AR PR SRR
[ et ]
[ ikt )
[ %R S A Y H
[ Coest ]

< % HT




FITERE RGBT RS AR 2 =T kX —) ERRERE R E

—
#
=
=

B =

a5
=
i
Xe
i

1=

= % W7




& 4R~ ik Bif

2
EIIL_LL'

5
=5




2 R fi A N R
7 ‘ ¥ i ED -3
:I: "+ 4 ‘ ' 2 3 N kY
i % ) 7R NS L 1\VA g oy - T ﬁ{ﬂﬁ —
Rz = MEAET.IKW
H%s |PCZ-ERMPS0SKLA4 % P /8. 0KW 4

BHFH200V 2.51KW




ZE A X

glgl

=2

S, N2 pE. % ME ?ﬁ 3]
T 7 7 773 %R~ & BAfT — . ‘ -
’ o R MwE | @ 28 | BE | WG Y

M | =SB T = 3
B

AU T = 3

AR B BT T = 3

I B B R B e~ AL

9.52(3/8B) 15.88(5/8B) HIRT Sum 10mn B2 i+ 4+ m 35

HEARVE e =V

VP25A (HEK - 8 5) BN —ik m 35

TRARIES AR TR

VVF2.0-3C m 35

Uz EAR AT T8 = 3

XEEWY) = 1

R IIRKE RYATF L7 — LRI

ENAEE HA0A T T — FER BRI m 35

H2e5 | &) el = 3

R L Ry = 3

THAESL MM B = 1

N o7 oL — T 7 Y]

4.9t H 1




28 AR A % 1 N R
T % & R E | W %gﬁﬁﬁ* T W | w —
Sal R SN
%’i 3PELB50A 6] #+27k % )MCB3P30A X 1 I 1
R [EEAT HE R
2P 20A X1 [i51] 1
AT HE RO
2P 20A X2 i) 1
J:T/\'ﬂf’

3PELB50A 20[a]+2/ 25 MCB3P30A X 1 i) 1
TR R P i = L R AR
HIVE 22 <gZH> m 12
) —< LR
HIVE 22 & 1
avveR—var vV T
22 (MF-HIVE) 14 3
SRS T LS B PR 8
MF-22 <g&H> m 4.5
axIH
MF 22 14 3
BE RV =L — 2 —T7 L CV
CV 3.5mm2 -3C <%&WHN> m 85
B ARG AR

= 3
B T (EAT)

=\ 1

ait




